
Question 1: An IT enabled organization that involves the radical re-conceptualization of the
business needs __________ for possible threat invasion

Impact analysis plan
Business continuity plan

Data backup
Control recommendation

Question 2: Trying to fit people and organizations into information systems has been major
reason for __________.

success
efficiency
increased productivity
failure

Question 3: Which of the following is the secret character string that is required to log onto a
computer system?

ID
PIN
PASSWORD

none of these

Question 4: Audit Trials can be used together with controls trials to identify and provide
information about users suspected of improper modification of data.

True

False

Question 5: Organization is a group of elements that are integrated with the common purpose of
achieving an object.

True
False

Question 6: A record of every stroke usually contain records describing system events,
application events, or user event

True
FALSE

Question 7: A language mechanism for restricting access to some of the objects components is
known as:
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